A B C D £ F § H
ESTIMATED WEIGHT (KG) | IT"E:: DESCRIPTION / MATERIAL F'ARTN; DRG ";iS(S)FyF
1 BASE UNIT - CAST ALUMINIUM. [702-9257| 1
2 | NOTICE "STAND ON THE RIGHT | 384-963 | 2
é NO SMOKING".
3 | MI12 x 62.5 Lg. STUD TO BS4439 - 2
GRADE 8.8, Zn. PLATED.
635 | 4 | M12 FLAT WASHER STEEL, - 2
. . Zn. PLATED.
5 [ M12 ALL METAL SELF LOCK NUT, - 2
Zn. PLA ED.
6
~-80R
I
! annuf
\r ’/ | ‘
| |
| Q
| | | | 8.0 “l\;
l ‘ | -\~
|| | \
=] | I [ )
m | | | , \
| Iy | | N
I |
B 1310 | l 1710, i L\
i I ; [ |+ | ‘
‘;3.‘,1 l g__ —— 7‘__ — e l_i;_l_‘_.__.,_ U B ! o \ ~_// —
| . _— _ h— _— —_—— — — -— — - _— — n—— —— [/ - »
1R i ! R :
{ i | J!G 11 i \i \ e — [«
| 3 ' Y 1= 0 — -
214,0 | —-J—L-———— 43301 ’/ | A-—-——-- L_L_ N o i g [
IR : A 4 s | ;
, 464 0 / RN / - , - \ E
4cC ~ ; L N N | : -
; \. 3. [ =
l' : \ A\O S \ 3.0 -
, b 1 . R e [~
|- £12.0 : DRILL £1D TAF ! . [
“" | FOR M12.X1.75SCREW Lo
| © -SECTION AA- —
! OMITTED FOR 9 o
CLARITY { n
- g - N "
(-_ Ir"“ - N N - s - T T N e _-'-'—'l" """ N / | BCPR
| . : -
| | . [ |
| ” || ]I || I | _—o
| | e e = e e o — — e —_— M D | PART No.'s ADDED/CHANGED,|LU/ | My |POS f10.7.15F
AR - - - T = - e = = | A\ DESCRIPTIONS CHANGED IN | 712
1 TR MATERIALS LIST.
T e B D e N o S — NP o NOTE _ADDED.
o == = e e = — N = = = W NOTES REVISED AND
I | P i | RE -NUMBERED.
| | | , | | DIM. ADDED
I \ ! D | C | RECESS ADDED PATTERN | - |[MLC| - [sn88
= N i - - - e e = T v B | DRG. MODIFIED TO SUIT - [ ke | - |3
NEW PATTERN
A e e e | ™ [
1. OUTSIDE SURFACE TO BE PERFECTLY FLAT,
SMOOTH AND FREE FROM DIMPLES DUE TO ISSUE REVISION DCN | BY [AuTH | DATE
CONTRACTION.
Transport for London
2. 180 GRIT (LINISHED FINISH). London Underground
Lifts & Escalators
3. RECESS TO TAKE NEW STOVE ENAMELLED
"STAND ON THE RIGHT/ NO SMOKING" NOTICE —
WITH SELF ADHESIVE BACKING TAPE.
FREE ISSUED BY LUL, MOUNTED BY VENDOR. CA?T ALUMINI!\)UM TBASETFOR
N N RIGH I
4. EACH ASSEMBLY TO BE SUPPLIED COMPLETE WITH STAND O G NOTICE
2 x STUDS (ITEM 3), 2 x M12 WASHERS (ITEM 4) AND 2235LhJA%IED& 02N33E7Sh§:h/'la‘Lél1?-cS)R(S7'|1A"'V|8r:‘G7' 8"
2 x M12 ALL METAL SELF LOCKING NUTS (ITEM 5) BAGGED
AND TAPED TO EACH BASE UNIT. © senes s o won aw |*52 Oy pRIOUS ESCALATORS
FINISH MATERIAL SPECIFICATION & STANDARDS ALL DIMENSIONS IN MM /NS~ UNLESS OTHERWISE STATED REFERENCE DRAWINGS B T e saon” | SUPERSEDE'S |'5‘3‘\'-E
TOLERANCES UNLESS OTHERWISE SPECIFIED | PROJECTION e <o
LINEAR ANGULAR:£0.5° | FIRST ANGLE CAD .
REMOVE ALL SHARP EDGES METRIC PERIAL CHANGE ON CAD ONLY 36_913 D
o2 AN | CEONETRE A5 | e
20p- +0.5|06eMAL: £D%Qy]  STATED FILENAME :0360913_D
AT "5 7 2 Y 4 2 6 7]8 9 10 n o2 13 om om




